

Find a closed form:

$$\Omega = \int_0^1 \int_0^1 \frac{\ln(1+x+xy) \tan^{-1}(x+1)}{(x+1)(y+1)} dx dy$$

Proposed by Abbaszade Yusuf, Lamiye Quliyeva-Azerbaijan

Solution by Alireza Askari-Iran

$$\begin{aligned} \Omega &= \int_0^1 \int_0^1 \frac{\ln(1+x+xy) \tan^{-1}(x+1)}{(x+1)(y+1)} dx dy = \\ &= \int_0^1 \int_0^1 \frac{\ln(1+y) \tan^{-1}(x+1)}{(x+1)(y+1)} dx dy + \int_0^1 \int_0^1 \frac{\ln(1+x) \tan^{-1}(x+1)}{(x+1)(y+1)} dx dy = A + B \\ B &= \int_0^1 \frac{dy}{1+y} \int_0^1 \frac{\ln(1+x) \tan^{-1}(x+1)}{x+1} dx \stackrel{x+1 \rightarrow x}{=} \ln(2) \int_1^2 \frac{\ln(x) \tan^{-1}(x)}{x} dx \quad \{\text{IBP}\} \\ &= \frac{(\ln 2)^3 \tan^{-1}(2)}{2} - \frac{\ln 2}{2} \int_1^2 \frac{(\ln x)^2}{1+x^2} dx = \frac{(\ln 2)^3 \tan^{-1}(2)}{2} - \frac{\ln 2}{2} C \\ C &= \int_1^2 \frac{(\ln x)^2}{1+x^2} dx \stackrel{x \rightarrow 1/x}{=} \frac{1}{2} \int_{\frac{1}{2}}^1 \frac{(\ln x)^2}{1+ix} dx + \frac{1}{2} \int_{\frac{1}{2}}^1 \frac{(\ln x)^2}{1-ix} dx \\ &= \sum_{n=0}^{\infty} \frac{i^n + (-i)^n}{2} \int_{\frac{1}{2}}^1 (\ln x)^2 x^n dx \stackrel{\text{IBP}}{=} \\ &\quad - \frac{(\ln 2)^2}{4} \sum_{n=0}^{\infty} \left(\frac{i^n + (-i)^n}{n+1} \right) (2^{-n}) - \sum_{n=0}^{\infty} \frac{i^n + (-i)^n}{n+1} \int_{\frac{1}{2}}^1 x^n \ln(x) dx \quad \{\text{IBP}\} \\ &= - \frac{(\ln 2)^2}{4} \sum_{n=0}^{\infty} \left(\frac{i^n + (-i)^n}{n+1} \right) (2^{-n}) - \frac{\ln 2}{2} \sum_{n=0}^{\infty} \frac{i^n + (-i)^n}{(n+1)^2} (2^{-n}) + \sum_{n=0}^{\infty} \frac{i^n + (-i)^n}{(n+1)^2} \int_{\frac{1}{2}}^1 x^n dx \\ &= \\ C &= - \frac{(\ln 2)^2}{4} \sum_{n=0}^{\infty} \frac{i^n + (-i)^n}{n+1} (2^{-n}) - \frac{\ln 2}{2} \sum_{n=0}^{\infty} \frac{i^n + (-i)^n}{(n+1)^2} (2^{-n}) - \frac{1}{2} \sum_{n=0}^{\infty} \frac{i^n + (-i)^n}{(n+1)^3} (2^{-n}) \\ &\quad + \sum_{n=0}^{\infty} \frac{i^n + (-i)^n}{(n+1)^3} \end{aligned}$$

$$B = \frac{(\ln 2)^3 \tan^{-1}(2)}{2} + \frac{(\ln 2)^3}{8} \sum_{n=1}^{\infty} \frac{\left(\frac{i}{2}\right)^{n-1} + \left(-\frac{i}{2}\right)^{n-1}}{n} + \frac{(\ln 2)^2}{4} \sum_{n=1}^{\infty} \frac{\left(\frac{i}{2}\right)^{n-1} + \left(-\frac{i}{2}\right)^{n-1}}{n^2}$$

$$+ \frac{\ln 2}{4} \sum_{n=1}^{\infty} \frac{\left(\frac{i}{2}\right)^{n-1} + \left(-\frac{i}{2}\right)^{n-1}}{n^3} - \frac{\ln 2}{2} \sum_{n=1}^{\infty} \frac{i^{n-1} + (-i)^{n-1}}{n^3}$$

$$B = \frac{(\ln 2)^3 \tan^{-1}(2)}{2} + \frac{(\ln 2)^3}{2} \tan^{-1}\left(\frac{1}{2}\right) + \frac{(\ln 2)^2}{2i} \left(\text{Li}_2\left(\frac{i}{2}\right) - \text{Li}_2\left(\frac{-i}{2}\right) \right)$$

$$- \frac{\ln 2}{2i} \left(\text{Li}_3(i) - \text{Li}_3(-i) + \text{Li}_3\left(\frac{-i}{2}\right) - \text{Li}_3\left(\frac{i}{2}\right) \right)$$

$$\int_0^1 \int_0^1 \frac{\ln(1+y) \tan^{-1}(x+1)}{(x+1)(y+1)} dx dy \stackrel{\substack{\text{IBP} \\ 1+y \rightarrow y}}{=} \int_1^2 \frac{\ln(y)}{y} dy \int_1^2 \frac{\tan^{-1}(x)}{x} dx$$

$$= \frac{(\ln 2)^2}{2} \int_1^2 \frac{\tan^{-1}(x)}{x} dx$$

$$\frac{(\ln 2)^2}{2} \int_1^2 \frac{\tan^{-1}(x)}{x} dx \stackrel{\substack{\text{IBP} \\ x \rightarrow \frac{1}{x}}}{=} \frac{(\ln 2)^3}{2} \tan^{-1}(2) - \frac{(\ln 2)^2}{2} \int_1^2 \frac{\ln(x)}{x^2+1} dx \stackrel{\substack{\text{IBP} \\ x \rightarrow \frac{1}{x}}}{=} \frac{(\ln 2)^3}{2} \tan^{-1} 2 + \frac{(\ln 2)^2}{2} W$$

$$\frac{(\ln 2)^3}{2} \tan^{-1} 2 + \frac{(\ln 2)^2}{2} \int_{\frac{1}{2}}^1 \frac{\ln(x)}{x^2+1} dx = \frac{(\ln 2)^3}{2} \tan^{-1} 2 + \frac{(\ln 2)^2}{2} W$$

$$W = \int_{\frac{1}{2}}^1 \frac{\ln(x)}{x^2+1} dx = \frac{1}{2} \int_{\frac{1}{2}}^1 \frac{\ln(x)}{1+ix} dx + \frac{1}{2} \int_{\frac{1}{2}}^1 \frac{\ln(x)}{1-ix} dx = \sum_{n=0}^{\infty} \frac{(i^n + (-i)^n)}{2} \int_{1/2}^1 x^n \ln(x) dx$$

$$\{IBP\} = \frac{\ln 2}{4} \sum_{n=1}^{\infty} \frac{\left(\frac{i}{2}\right)^{n-1} + \left(\frac{-i}{2}\right)^{n-1}}{n} - \sum_{n=0}^{\infty} \frac{i^n + (-i)^n}{2(n+1)} \int_{1/2}^1 x^n dx$$

$$W = \frac{\ln 2}{4} \sum_{n=1}^{\infty} \frac{\left(\frac{i}{2}\right)^{n-1} + \left(\frac{-i}{2}\right)^{n-1}}{n} - \sum_{n=1}^{\infty} \frac{i^{n-1} + (-i)^{n-1}}{2n^2} + \sum_{n=1}^{\infty} \frac{\left(\frac{i}{2}\right)^{n-1} + \left(\frac{-i}{2}\right)^{n-1}}{4n^2}$$

$$A = \frac{(\ln 2)^3}{2} \tan^{-1} 2 + \frac{(\ln 2)^3}{8} \sum_{n=1}^{\infty} \frac{\left(\frac{i}{2}\right)^{n-1} + \left(\frac{-i}{2}\right)^{n-1}}{n} - \frac{(\ln 2)^2}{4} \sum_{n=1}^{\infty} \frac{i^{n-1} + (-i)^{n-1}}{n^2}$$

$$+ \frac{(\ln 2)^2}{8} \sum_{n=1}^{\infty} \frac{\left(\frac{i}{2}\right)^{n-1} + \left(\frac{-i}{2}\right)^{n-1}}{n^2}$$

$$A = \frac{(\ln 2)^3}{2} \tan^{-1} 2 + \frac{(\ln 2)^3}{2} \tan^{-1}\left(\frac{1}{2}\right)$$

$$- \frac{(\ln 2)^2}{4i} \left(\text{Li}_2(i) - \text{Li}_2(-i) - \text{Li}_2\left(\frac{i}{2}\right) + \text{Li}_2\left(\frac{-i}{2}\right) \right)$$

$$\begin{aligned} \text{ANSWER} = A + B &= \frac{\pi(\ln 2)^3}{2} + \frac{3(\ln 2)^2}{4i} \left(\text{Li}_2\left(\frac{i}{2}\right) - \text{Li}_2\left(\frac{-i}{2}\right) \right) \\ &\quad - \frac{\ln 2}{2i} \left(\text{Li}_3(i) - \text{Li}_3(-i) + \text{Li}_3\left(\frac{-i}{2}\right) - \text{Li}_3\left(\frac{i}{2}\right) \right) \end{aligned}$$